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According to the color of this sentence:He told me his name, but I've for'go‘r’ren it
TRNGL: He told me his name, but T've forgotten it.

@ secret
@ code name @?Fog
® friend's name USE & PRINTING outside of eTOC are
@ birthday strictly PRONIBITED.,
TRNG2: He told me his name, but I've forgotten it.
D and I've not

TRNG3: He told me his name, but T've forgotten it

@ his face,

@ the pronunciation.
@ his country.

* HAGET T 2 COGBICARL TE > TA £ L & 9, *Try to translate into English by yourself without
looking at the English part and say it out loud. Teacher must check their answer.
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* Let student try to memorize these sentences. Please use direct method, same as Callan way.

example: I still can't believe she has gone.
MO LU X A pl-L

(e hMfT-o T LE TR A T, R ;tif_ﬁb‘%irw‘ocb\

EARYSYY)

Question: km LA & LITAE 2 2 &,
Please change this sentence into a negative sentence.
*There is the answer at the bottom of this page.

She has already left for the airport.
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* Try to translate into English by yourself and say it out loud. Teacher must check their answer. These
answers are the same as the given Examples and question.

MOL Xk bl L

example: r{ﬁﬁW{TO LEoTAT, FAITET ,TQL/%%L/—JTI/\OJ

DU Xk <9229 LwoiED
X

Question: | IR ZLIEH D ZEEE~H B L TLE -T2, ]

E'

Answer of the Question:



